Math 98 Problem Set 3

1. List all factors of 48.

2. Consider a rectangle with sides 12 feet and 5 feet long.
a) Compute the perimeter of the rectangle. Include units in your computation and answer.
b) Compute the area of the rectangle. Include units in your computation and answer.

3. Simplify each of the following.
a) —3—(=5)+(—4)—8 g) 20 —2(42-3(7-2%) 1) V16 ++9

b) -3 - [(_5) + (_4) - 8] h) (24 — 23) (23 B 22) IIl) @ +4
10— 3241 2
c) =3—[(=5)+(-4)] -8
R ny 204
d) 12— (=7 — (=5)) — 32 Vop (o1 2
0) 12—5+42
€) 20— (2-52 — 72 +4) i) V16+9
3 —2.13
£) 20— ((2-5)7%—72+4) k) vI6 T 9 P) )
4. Simplify the following expression. Show all steps.
32-13 14
10— —-— —2(3 -2 +1) - —
s 2 1)-5
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